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Note: Attempt all MCQ type questions, each question carries 1 mark.

1) When the Maharani Regent of Tripura signed the Tripura Merger Agreement?

a) 9 August 1949 b) 9 November 1949

¢) 9 October 1949 d) 9 September 1949

2)  Which of the following Indian state has the maximum number of Scheduled Tribal
population?

a) Madhya Pradesh b) Assam

¢) Himachal Pradesh d) Jharkhand

3)  According to 2011 Census Report, the difference between literacy rates of men and
women in India is about?

a) 17 b) 10

¢) 21 d) 23

4)  Who was the first Minister of Education in the post-Independence India?

a) Shri M. C. Chagla b) Dr. K. L. Shrimali

¢) Maulana Abul Kalam Azad d) None of these

$)  The Tripura University Established in -

a) 2 September, 1987 b) 2 October, 1986

¢) 2 October, 1987 d) 2 September, 1986

4y  Which section of the Tripura University Act 2007 deals with the Objects of

University?

a) Sechon 7 b) Section 4

¢) Section 5 d) Section 9




7)

8)

9)

10)

11)

12)

13)

Who is the ‘Visitor’ of the Tripura University?

a) Education Minister

¢) President of India

What is the term of First Registrar of the

ey

b) Governor of Tripura

d) Chief Minister of Tripura

Provisions of the Tripura University Act 20067

a) 2 Years

¢) 6 Years

[ |

f—

b) 3 Years

d) 5 Years

[]
[]

University as per the Transitional

What is the retirement age of the Finance Officer of the Tripura University.

a) 60 Years

c) 65 Yecars

UNESCO is located in ....7
a) Paris

c¢) New York

b) 62 Years

d) 58 Years

b) London

d) India

What is the median of the sample 5, 5,11, 9,8, 5,87

a)9

c)8

What is the fraction of 5%?
a) 1/25

c) 1/20

In a rectangle length = 8 cm, breadth = 6 cm. Then its diagonal will be..?

a) 15cm

c) 10 cm

b) 12

d) 10

b) 1/10

d) None of the above

b) 11 cm

d) 12 ¢cm

L]
L]




14)

15)

16)

17)

18)

Solve3+6x(5+4)+3.7

a) 11 b) 12

¢) 17 d) 14

If ROAD is written as URDG, then SWAN should be written as:
a) VXDQ b) VZDQ

¢) VZDP d) UXDQ

Select the pair that best express a relationship similar to that expressed in the pair:
(Children : Pediatrician)

a) Adult : Orthopedist

b) Females : Gynecologist

¢) Kidney : Nephrologist

d) Skin : Dermatologist

The population of a town increased 5% annually. If its present population is 84000,
what will be its population in years time?

a) 92660 b) 92560

c) 92610 d) 92600

Rashi, Shalu, Megha and Reeta are siting along with with a rectangular table. Rashi
is to the right of Shalu. Megha is to the left of Reeta. Which of the perosn given in
the option is sitting opposite to each other?

a) Shalu - Reeta b) Rashi - Reeta

¢) Rashi - Shalu d) Megha - Rashi




19)

20)

21)

22)

23)

A batsman makes a score of 97 runs in 15th inning and thus InCreases his average

by 5. Find his average after 15th inning.

a) 15 |:| b) 82 | ]
c) 27 [] o9

in the ratio 3:4, first, aray AX is drawn so that ZBAX

To divide a line segment AB
marked on the ray AX such

is an acute angle and then at equal distances points are
that the minimum number of these points 1s:

a) 5 b) 7

)9 d) 11

Under which section is a deduction allowed for purchase of an electric vehicle

a) Section 80-EE b) Section 80-EEA -

¢) Section 80-EEB d) None of the above

Leave not due (LND) during entire service is limited to a maximum of how many
days?

a) 360 b) 180

c) 75 d) 120

Demand of dowry is prohibited by Rule 13A of CCS (Conduct) Rules, Which Act
defines dowry?

a) Hindu Marriage Act b) Dowry Prohibition Act

c) Indian Evidence Act d) None of the Above

Indicate the Rule under which a Government servant may be required to subscribe
to a provident fund -

a) FR 14B b)FR |
‘ [ ]
¢) FR 14A OFR 11 D




25) What is the Pay Level of Deputy Registrar in a Central University as per 7 CP

a) Level 10 b) Level 11
c) Level 12 d) Level 14
26) Wha.t is the maximum rate of honorarium per case in respect of an Inquiry Officer
serving part-time for departmental proceedings?
a) Rs.5000/- b) Rs.3000/-
¢) Rs.10000/- d) Rs.1500/- o

27) Under RTI, what is the time-limit for disposing of application, If information
sought concerns the life or liberty of a person?

a) 30 days b) 45 days

¢) 60 days d) 2 days

28) From which date did the Income Tax Rules come into effect?

a) 01/01/1962 b) 01/01/1961

¢) 01/04/1961 d) 01/04/1962

29) What is the cash award for passing Hindi Pragya Exam of Hindi Teaching Scheme
through own cfforts?

a) Rs. 1800/- b) Rs. 2400/-

¢) Rs. 1600/- d) Rs. 1200/-

30) How many days joining time is admissible if a Government servant is transferred
from station X to Y with a distance of 999 Kms and involves continuous travel by
road for more than 200 Kms.?

a) 12 days b) 10 days

¢) 15 days d) 8 days




31)

32)

33)

34)

35)

36)

Which allowance is not admissible during Joining Time?

D b) Conveyance Allowance D
D d) None of the above r]

a) HRA

¢) Dearness Allowance

What does the term ‘year’ denote in respect of drawal of CEA?

D b) Academic Year

D d) Co-operative Year

a) Financial Year

c) Calendar Year

The date on which CCS(CCA) Rules, 1965 come into effect is -

—

b) 15 April 1965

a) 1% January 1965

d) 1% December 1965

¢) 1% September 1965

In what form will a bid security be accepted?

a) Bank guarantee b) Fixed Deposit receipts

¢) Demand Draft d) All the above

Which bid is opened first by an organization in two bid system?

a) Financial bid

b) Technical bid

¢) Both should be open simultaneously

d) Any one bid

What is the minimum period for grant of second or subsequent computer

advance?
a) 2 years b) 3 years
c) 4 years d) S years




37)

38)

39)

40)

41)

42)

State the upper age limit for devyaang children for reimbursement of CEA?

a) 18 years b) 21 years I_]
¢) 20 years = d) 22 years D

What are the works and services that come under the term “goods™?

a) Transportation, installation

b) Training, maintenance

c¢) Both (a) and (b)
d) Neither (a) nor (b) :!

Which Rule in GFR speaks about Government e-Marketplace?

a) Rule 149 b) Rule 150

c) Rule 155 d) Rule 154

What is the latest financial limit for purchase of goods without quotations or bid
for Central University?

a) Rs. 75,000/- b) Rs. 50,000/-

¢) Rs. 1,00,000/- d) Rs. 25,000/-

Which country hosted the G20 Summit in 20237

a) India b) United States

¢) Brazil d) Indonesia

When is National Consumer Rights Day observed?

a) 24 December b) 25 December

¢) 26 December d) 27 December




43) Who recently received the 6th Rabindranath Tagore Literary prize?
a) Pushpa Bharti
b) Sukrita Paul Kumar
¢) Dinanath Rajput

d) Perumal Murugan

44) Recently, Bharat Adivasi Party, a lesser-known tribal rights party clinched its first

electoral win in which state?
a) Chhattisgarh

b) Madhya Pradesh

¢) Mizoram

d) Telangana

45) FASTag, recently seen in the news, works on which of the following techniqu

a) WiFi Frequency ldentification
b) Infrared Frequency Identification
¢) Radio Frequency Identification

d) Electrical Frequency ldentification

46) How many bytes are there in 4 Kilobyte (KB) memory?

a) 1024 b) 512

c) 2048 d) 4096

47) What is the address given to each computer on the Internet known as?

a) Hardware number b) Device address

c) IP address d) NET address

10

10

L




48) Which country hosted the 2024 G20 Summit?
a) Brazil
b) India
¢) Bali

d) South Africa

49) In 2019, Which popular singer was awarded the Bharat Ratna award?
a) Lata Mangeshkar
b) Asha Bhosle
¢) Bhupen Hazarika

d) Manna Dey

50) India’s 1st School of Logistics, Waterways, and Communication launched

a) Assam
b) Tripura
¢) Meghalaya

d) Manipur

TOTAL NUMBER OF MCQs ATTEMPTED:
o INFIGURE.......sisesinsadaniio

o N WORDS. cooavunsies sanwevsason

11




[ Seetion ~__l!_]
Note: Very Short Type Questlons (Answer in one word/one sentence) = 10
Questlons (2 marks each)

1) Who appoints the Vice-Chancellor of a Central University and what is the tenure

of the Viee-Chaneellor?

Ans,

2)  Who is the Ex-officio Secretary of the Finance Committee of the University?

Ans.:

1) How many Earned Leaves (EL) are admissible in an academic year to a Faculty
Member of Tripura Unmiversity?

Ans.:



4) What is the full form of NIRF?

Ans.:

5)  What do you understand by GeM?

Ans.:

13



6) Who appoints the Dean of the School/Faculty in Central University?

Ans.:

7)  Which country's GST dual model has been adopted in India?

Ans.:

8) Coronavirus disease (COVID-19) is an infectious disease caused by the .........

Virus.

Ans.:

14



9) What is the Mukhyamantri Unnoto Godhan Prakalpa (MUGP) scheme started by
Tripura Govt.

Ans.:

10) Recently, senior citizens of which age has been included under Ayushman Bharat
Pradhan Mantri Jan Arogya Yojana (AB PMJAY)?

Ans.:

15
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Note: Short Type Questions (Answer within 50 words) = 5 Questions (3 marks

each)

1)  What do you understand by Commuted Leave, how many Commuted Leave

credits in a Year?

Ans.:

16



2)  Write a short note about Rule 155 of General Finance Rules 20177

Ans.:



3) Write a brief note on HEFA.

Ans.:

18



4) What do you understand by Non-Technical Resignation?
Ans.:

13




5) What do you understand by the Annual Report of a Central University, give a

brief note on it.

Ans.:

20



LSection -D ]

Note: Subjective Type Questions (Answer within 100 words) = 3 Questions
(5 marks each)

1) Putup a note on pay-fixation of a newly appointed Assistant on Technical
Resignation.

Ans.:

21
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2) Prepare a show-c :
” ause notice to an non-teaching employee for hi .
absence for more than a month RIS nanie ot

Ans.:

23






3) Describe five important featu
: atures of the Nati " : A
idaraduadion ational Education Policy, 2020 regarding

Ans.:

25



Answer Keys for The Post of Assistant

Question
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